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�d̀ èilz8�k��idd̀ 8̀� `̀ dilz8��8�fl �̀8� ilfd̀bH ��,-7/7̂� G?-�*?4/2647F�>24?46-�@ -99F��,-7-E�I?-�6--I/7̂ �4I�&'C&�? �" -̂7E4�,4,-20�N-2-�434/5495-�/7�4E347.-��75/7-F�N/I?�0�6-�0,42-�.�,/-0�47E�54I-�,4,-20�=�2�6-69-20�47E��90-23-20 � +I--2/7̂ �*�66/II--�6-69-20�,2-0-7I�N-2-<�>24?46-�@ -99F�J/-I2/.?�)-5E-7F�"5-�47E2���422/-24F�G�6�J4.-MF�#-2247�$�00F�*?425/-�� 47�5/0F�"5342���-540.�F�*425�0�#/�4F�+-2̂/��� -E247�(A/I42F�A-2742E���2I/]F�+461-5�� 42I/7F�$1I?��50-MF�"5547�@ ��EN42EF�J�7�"0?5-MF�P�/.?/�G4m-?424F��72/.��*?/-04F�)�2̂-�+4/-?F�)-2�6-�*424̂ 1-5F�)�?7�*45EN-55F�#4�5��� 42I-55/F��-7I��5/-IF��45��47.-F�)�?7�G?�29�427420�7�47E�#?/5�@ /5m/70�7 �� ",�5�̂ /-0�N-2-�2-.-/3-E�=2�6<�$/.?42E�L-2̂100�7F��5/3/-2�A-?24F�)-77M�J45I2MF��4��G?1�mF�A * �*?�1E?12MF�"0̂ ?42�� �9424m/F�$�9-2I��+�9-2�7F�$45=�+�66-254EF�;47m�)-7m/70F�P�0?/���47-m�F�* ; ���?F��-3/7�347�)44203-5EIF�)46-0�� 4.>2-̂ �2F�L2/I]�;1.?]-26-M-2F�G�66-�P�17̂ F�;422M�� -00-5F�$�6�@ ?/I4m-2F�$�9�+I1-9/7̂ F�A21.-�+?N-E/.mF�)/47̂ �;�7̂ B/7̂ F��I?-7�P�17̂ ,24,4m�27F�G�0?/7�2/�G019�1.?/F�)�7�;1II�7F���-5��/75-2F�*?2/0�A47m0F�+I-3-�#-1.m-2�47E�J43/E�@ /5m-7 �+�6-�7�7(+*�6-69-20�450��0-7I�4,�5�̂ /-0n�� 47̂ 45�+?4mM4F�"7I�7/�*4E/F�"7I�/7-�)�0-,?F�$�9-2I�>�E0?45mF�� 471-5�G49-I�47E�G�9M�$46�0 � �90-23-20�,2-0-7I�/7.51E-E<��/.m/�+/65-04F�� -25/�7�347�@ --2EF�#495��+/2�0m/F�>/0-54�#�5-II4F�%347�#454./�0F�;/E-m/�+4m46�I�F�� 42.�>4701474F�>/�3477/��55�4F��1/0�A400-II/F�;-IIM�"94E/-F�+455M�%09-2̂F�)�?7�*45E42�7F�"M47��=47.-�$��47���=472F�;-.I�2�$4/̂�04��/55-̂ 40F�>�E=2/E�+�561F�$�9-2I�+/7-F�)�?7�A21-̂ -̂7F�"E46�A2/II�7F�*24/̂�L247m5/7F�)�7�@ /-9-F�A-4I2/.-�� 42I/7F�*?2/0�� �247F�>-�==�� .*512-F�;-2747E���469247�F�"2/�#456�F�"E2/474�$/3-24F�)�?7�A2-1̂ -̂7F�+�7/4�*47I��47E�"5=�70���5�9-I �H H �*?4/2647�0�$-,�2I� G?-�*?4/2647�N-5.�6-E�-3-2M�7-�I��I?-�6--I/7̂ �47E�I?47m-E�I?-�N�2m0?�,��2̂ 47/0�20F�/7.51E/7̂ �2-,2-0-7I4I/3-0��=�>�3-276-7IF�4.4E-6/.�/70I/I1I/�70F�/7E10I2M�47E��>�0 �#42I/.15425M�I?47m0�N-2-�-BI-7E-E�I��"5=�70���5�9-I�47E��42/74�+4164 �;-�450��,400-E��7�I?-�,-20�745�9-0I�N/0?-0�=2�6�I?-�*?4/2��=�I?-�+,-./-0�+123/345�*�66/00/�7F�;�55M�J195/7 � G?-�*?4/2647�E2-N�4II-7I/�7�I��I?-�4.I/3/I/-0��=�I?-�*+>��3-2�I?-�,40I�IN��M-420F�?/̂?5/̂?I/7̂ <!�*�#Ht�QG?-�;4̂ 1-F��-I?-2547E0F�)17-��&&�\n!�+/̂7/=/.47I�01,,�2I�,2�3/E-E�9M��12�E�7�20�47E�@ /5E5/=-�� 474̂ -6-7I�%7I-274I/�745F�N?/.?�?40�-7495-E�I?-�*+>�I��91/5E�1,�/I0�v747./45�2-0�12.-0n�!�*-7I245/04I/�7��=�I?-�*+>�/7�J42N/7F�"10I245/4F�/7.51E/7̂ �I?-�v747./45�42247̂ -6-7I0n!�#2�,�0-E�.?47̂ -0�I��I?-�*+>�2-̂ /�745�0I21.I12-�47E�



��������������������������������������������������������������������������������������t

+I--2/7̂ �*�66/II--F�N?/.?�N/55�9-�2-u1/2-E�5-4E/7̂ �1,�I��I?-�%�*��*�7̂ 2-00�/7�A42.-5�74�/7��.I�9-2��&&'n�!�+1..-00=15�@ -0I�"=2/.47�019(2-̂ /�745�6--I/7̂ �?-5E�/7��/̂-2�/7��&&�n!�$-.-7I�̂?42/45�6�2I45/IM�-3-7I�/7�*?46945��4I/�745�+47.I142MF�%7E/4n�47EF!�*+>�2-3/-N0�/7�� 4E4̂ 40.42�47E��/-I746�47E�,2�,�0-E�6/00/�7�I��*194�/7���3-69-2��&&' � G?-�6--I/7̂ �?-5E��7-�6/71I-0��0/5-7.-�=�2�IN��5�7̂ (0-23/7̂ �6-69-20�N?��,400-E�4N4M<�J2 �G/2I?4�� 47�� 40m-M�Q�-,45\�47E�J�1N�o+N477/-r�+N47-,�-5�Q+�1I?�"=2/.4\ � G?-�*?4/2647�E2-N�4II-7I/�7�I��I?-�542̂-�4̂ -7E4�47E�/7E/.4I-E�I?4I�I?-�4̂ -7E4�,4,-20�N�15E�9-�I4m-7�40�2-4E�47E��,-7-E�=�2�E/0.100/�7�47E�u1-0I/�70 H � ��� /71I-0�47E�".I/�70�=2�6 �*+>�+*�� --I/7^F�� �7I-5/642F�L247.-�QHO�)17-��&&w\� *�6,5-I/�7��=�4.I/�70�=2�6�I?-�,2-3/�10�*+>�+I--2/7̂ �*�66/II--�6--I/7̂ �N-2-�7�I-E H D ��B-.1I/3-��=v.-2�0�$-,�2I� G?-����?/̂?5/̂?I-E<�I?-�.�6,�0/I/�7��=�I?-�+I--2/7̂ �*�66/II--n�*+>�6-69-20?/,�QDD��4I�� 4M��&&'\n�2-3/-N0�Q� 4E4̂ 40.42�47E��/-I746�47E�,2�,�0-E�6/00/�7�I��*194\n�*+>��-N05-II-2�Q2-E1.I/�7�I��D&&�?42E�.�,/-0�17E-2�I?-�7-N�,�5/.MF��C&��.�0I�043/7̂ 0�4.?/-3-E\n�5417.?/7̂ ��=�7-N�*+>�N-90/I-n�47EF�I?-�2-3/0-E�v747./45�6474̂ -6-7I�42247̂ -6-7I0 �G?-�2-,�2I�N40�7�I-E H t ��L/747./45�$-,�2I� G?-�v747./45�2-,�2I�?/̂?5/̂?I-E�I?-<�.122-7I�94547.-��=�42�17E�s�+D�&F&&&n�I2470=-2��=�I?-�915m��=�*+>�=17E0�I��J42N/7n�2-0/̂ 74I/�7��=�#-2247�$�00�40�G2-4012-2n�47EF�I?-�0I2�7̂ �47E�E-I-26/7-E�-==�2I0�I��91/5E�1,�2-0�12.-0 �%I�N40�2-,�2I-E�I?4I�*+>�6-69-2�$-7-�;-E-̂ 442E�Q�2�m�E/55-����\�?40�4E3/0-E�I?4I�I?-�I-6,�242M�.2�.�E/5-�-B?/9/I/�7�?-�?-5,-E�-0I495/0?�4I�I?-�"u142/16�/7���2N4M�?40�I127-E��1I�I��9-�4�̂2-4I�01..-00 �%I�/0�47I/./,4I-E�I?4I�/I�N/55�̂-7-24I-�4�E�74I/�7��=�42�17E�s�+�CF&&&�I��I?-�*+>�9M��.I�9-2��&&'F�I��9-�=�55�N-E�9M�4�0/6/542�46�17I�/7��&&O �G?-�*?4/2647�I?47m-E�I?-�*+>�E�7�20F�,42I/.15425M�I?-�/7E10I2M�6-69-20F�0�6-��=�N?�6�N-2-�,2-0-7I�4I�I?-�6--I/7̂  �G?-�2-,�2I�N40�7�I-E � ��$-̂ /�745�$-,�2I0� H H ��"=2/.4� G?-�2-,�2I�=2�6�I?-�$-̂ /�745�*?4/2647�=�2�"=2/.4F�$/.?�L-2̂ 100�7F�N40�/7.51E-E�/7�I?-�4̂ -7E4�E�.16-7I0 �$/.?42E�N40�17495-�I��4II-7E�I?-�

6--I/7̂  �G?-�2-,�2I�N40�7�I-E � H � ��@ -0I�"=2/.4�+19($-̂ /�745�� --I/7̂� J-,1IM�*?4/2647F�J/-I2/.?�)-5E-7F�2-,�2I-E�I?4I�I?-�v20I�@ -0I�"=2/.47�019(2-̂ /�745�6--I/7̂ �?-5E�/7��/̂-2�/7���3-69-2��&&�F�N40�4�3-2M�/6,�2I47I�/6/I4I/3-�I?4I�4.?/-3-E�I?-�I?2--�64��2��9�-.I/3-0<H �G���9I4/7�4�016642M��=�I?-�.122-7I�47E�?/0I�2/.45�0I4I10��=�I?-�I?2--�.2�.�E/5-�0,-./-0�E/0I2/91I-E�/7�.�17I2/-0��=�I?-�@ -0I�47E�*-7I245�"=2/.47�2-̂ /�7n� �G��9-.�6-�=46/5/42�N/I?�I?-�4/60�47E�40,/24I/�70��=�2-̂ /�745�.�17I2/-0�N/I?�2-̂ 42E�I��I?-�.�70-234I/�7F�6474̂ -6-7I�47E�010I4/7495-�10-��=�.2�.�E/5-0F�47E�N?-2-�4,,2�,2/4I-F�I?-�.�70I24/7I0�,2-3-7I/7̂ �I?�0-�̂�450�=2�6�9-/7̂ �4.?/-3-En�47EFD �G��400-00�42-40�N?-2-�I?-�*+>�64M�9-�495-�I���==-2�I-.?7/.45�400/0I47.-�/7�I?-�=1I12-�47E�I��=�0I-2�.�7I4.I0�47E�7-IN�2m/7̂ �I?4I�64M�9-�,�00/95-�N/I?/7�@ -0I�"=2/.4F�47E�9-IN--7�@ -0I�"=2/.4�47E�I?-�/7I-274I/�745�.�6617/IM�/7��2E-2�I��/7.2-40-�4.I/3/I/-0�N/I?�.2�.�E/5-0�N/I?/7�I?-�2-̂ /�7 J�.16-7I-E�2-.�66-7E4I/�70�42-�/7.51E-E�/7�I?-�,2�.--E/7̂ 0�=2�6�I?-�6--I/7̂ �47E�/I�/0�7�N�,2�,�0-E�I��?�5E�4�=�55�N�1,�6--I/7̂ �/7�A12m/74�L40��/7��&&Oq�&H&�Q0--��-II-2�HF�,4̂ -�O\�7E-2�I?-�7-N�*+>�2-̂ /�745�0I21.I12-F�"=2/.4�N/55�9-�E/3/E-E�/7I��IN��0-,424I-�2-̂ /�70<�@ -0I�"=2/.4�Q/7.51E/7̂ �I?-�L247.�,?�7-�.�17I2/-0�47E�� 4E4̂ 40.42\�47E��40I�47E�+�1I?�"=2/.4 G?-�2-,�2I�N40�7�I-E � H D ��� 4E4̂ 40.42�$-3/-N� G?-�*?4/2647�2-,�2I-E�I?4I�.2�.�E/5-�.�70-234I/�7�/7�� 4E4̂ 40.42�?40�9--7�4�3-2M�E/=v.15I�6474̂ -6-7I�,2�95-6�=�2�9�I?�*%G�+�47E�*+>�=�2�4�5�7̂ �I/6- �"�*%G�+�6/00/�7�I��� 4E4̂ 40.42�N40�17E-2I4m-7�/7�54I-��&&w �%7�4..�2E47.-�N/I?�I?-�2-.�66-7E4I/�70��=�I?4I�6/00/�7F�I?-�*+>�?40�.�66-7.-E�4�=�55�N�1,�,2��-.I�I��400/0I�� 4E4̂ 40.42�/6,5-6-7I�I?-�2-.�66-7E4I/�70��=�I?-�*%G�+�+I47E/7̂ �*�66/II-- �G?/0�2-3/-N�.�66-7.-E�/7��&&�F�N/I?�=17E/7̂ �01,,�2I�=2�6�0-3-245�*+>�E�7�20 �*?2/0I/7-��/,,4/�?40�9--7�-7̂ 4̂ -E�40�I?-�*+>�*��2E/74I�2 �L�55�N/7̂ �.�7015I4I/�7�N/I?�I?-�2-5-347I�0I4m-?�5E-20F�I?-�� 4E4̂ 40.42�>�3-276-7I�?40�4,,2�3-E�I?-�N�2m�,547�E-3-5�,-E�/7�.�7015I4I/�7�N/I?�I?-�2-5-347I�0I4m-?�5E-20F�4�.�7015I4I/3-�*2�.�E/5-�� 474̂ -6-7I�*�66/II--�-0I495/0?-E�47E�v-5E�0123-M0�42-�,5477-E�I��.�66-7.-�/7�)15M("1̂ 10I��&&' �G?-�2-,�2I�N40�7�I-E ���-II-2���0-7I�I��*%G�+�+I47E/7̂ �*�66/II-�2-̂ 42E/7̂ �,2�̂ 2-00�N/I?�I?-�N�2m,547F�0--�,4̂ -�O� 



��������������������������������������������������������������������������������������C

� H t ��� 4̂7E4�47E�� 454N/<�*%G�+�+*�$-.�66-7E4I/�70��7�%6,5-6-7I4I/�7��=�$-0�51I/�7�*�7= �HH Hw�Q$-3 �*�#Ht\� G?-�2-,�2I�=2�6�$/.?42E�L-2̂100�7�N40�7�I-E � � H ���40I�47E�+�1I?-40I�"0/4� �-/I?-2��=�I?-�$-̂ /�745�*?4/20�N40�495-�I��4II-7E�I?-�6--I/7̂  �G?-�*?4/2647�47E�� -25/�7�347�@ --2E�,2�3/E-E�47�1,E4I-��7�0�6-��=�I?-�4.I/3/I/-0�/7�I?-�#?/5/,,/7-0�N/I?�R�WUTV��Z[V�T��,2�̂ 2460F�=�55�N/7̂ �I?-�01..-00=15�oL�216��7�*2�.�E/5-0�/7�I?-�#?/5/,,/7-0r�/7�L-92142M��&&� � J/0.100/�7�N40�450��?-5E��7�I?-�o/7I24.I495-r�,2�95-6�/7�I?-�N?�5-�2-̂ /�7�N/I?�R�W�TSU[V�T� �G?-2-�42-�647M�.4,I/3-�92--E/7̂ �=4260�Q�H&&&�/7��/-I746F��O&&�/7�*469�E/4F�-I. \F�91I�=-N�47/6450�2-64/7/7̂ �/7�I?-�N/5E �*�73-7I/�745�N4M0��=�E-45/7̂ �N/I?�I?-�,2�95-6�?43-�6-I�N/I?�5/II5-�01..-00F�47E�,-2?4,0�6�2-�/77�34I/3-��,I/�70�7--E�I��9-�-B46/7-E�Q0--��-II-2�DF�,4̂ -�H&\ �%I�N40�4̂ 2--E�I?4I�/I�/0�4�.�6,5-B�5�̂ /0I/.�0/I14I/�7�47E�.455-E�=�2�4�2�17EI495-�E/0.100/�7�9-IN--7�I?-�2-5-347I�.�17I2/-0�QG?4/547EF��4�0F�*469�E/4F��/-I746F�*?/74\ � � � ��*?/74� G?-�$-̂ /�745�*?4/2647�)/47̂ �;�7̂ B/7̂ �N40�17495-�I��4II-7E�I?-�6--I/7̂  �)�?7�G?�29�427420�7�,2�3/E-E�47�1,E4I-��7�I?-�*?/7-0-�"55/̂4I�2�2-/7I2�E1.I/�7�,2�̂ 2460F�N�2m0?�,�?-5E�/7�+?47̂ ?4/�/7�� 42.?��&&'F�05/̂?I�91I�/6,�2I47I�/7.2-40-�/7�I?-�N/5E�,�,154I/�7�47E�7-0I�,2�E1.I/�7F�47E�I?-�-0I495/0?6-7I��=�4�7-N�92--E/7̂ �.-7I2-�/7��47�/7̂  �J/0.100/�7�N40�?-5E��7�I?-�,�00/95-�10-��=�=17E0�?-5E�/7�I?-�*?/7-0-�"55/̂4I�2�L17E �G?-�*+>��B-.1I/3-�/0�.�70/E-2/7̂ �I?-�01̂ -̂0I/�7��=�4�,195/.�-E1.4I/�7�,�0I-2�47E�N/55�E/0.100�I?-�,2�,�045�N/I?�*?/7-0-�2-,2-0-7I4I/3-0 �G?-�2-,�2I�N40�7�I-E � � D ��*46 9�E/4<��,E4I-��7�%6 ,5-6 -7I4I/�7��=�$-.�66-7E4I/�70� G?-�2-,�2I�=2�6�L/0?-2/-0�"E6/7/0I24I/�7��=�*469�E/4��7�I?-�/6,5-6-7I4I/�7��=�I?-�2-.�66-7E4I/�70��=�I?-��&&C�*+>�2-3/-N�N40�7�I-E �+�6-�,2�̂ 2-00�?4E�9--7�64E-�0/7.-�I?-�H'I?�*+>�N�2m/7̂ �6--I/7̂ n�0�6-�2-.�66-7E4I/�70�42-��7̂ �/7̂  � � t ���/-I746�$-3/-N�� G?-2-�42-�42�17E�t&&F&&&�.2�.�E/5-0�/7�.4,I/3-�92--E/7̂ �=4./5/I/-0F�N?/.?�247̂ -�=2�6�?�10-?�5E0�N/I?�4�=-N�.2�.�E/5-0�I��542̂ -�92--E/7̂ �=4260�N/I?��3-2�D&F&&&�47/6450 �G?-�.�7.-,I��=�10/7̂ �06455�3/554̂ -�?�5E/7̂ �=4260�/0�=155M�01,,�2I-E�9M�I?-�>�3-276-7I��=��/-I746 �G?-�*%G�+(2-̂ /0I-2-E�.4,I/3-�92--E/7̂ �=4./5/I/-0�?43-�N�2m/7̂ �

42247̂ -6-7I0�N/I?�I?-�06455�04I-55/I-�=4260F�47E�I?-�0M0I-6�24/0-0�647M�,�I-7I/45�E/=v.15I/-0 �%I�/0�2-.�66-7E-E�I?4I�4�$-̂ /�745�@ �2m0?�,�9-�?-5E�I��4EE2-00�I?-�342/�10�/55-̂ 45�I24E-�/001-0�,42I/.15425M�I24E-�N/I?�*469�E/4�N/I?�1I�*%G�+�,-26/I0 � D H ���4I/7�"6-2/.4�47E�I?-�*42/99-47� G?-�2-,�2I�=2�6�I?-�$-̂ /�745�*?4/2647F�"5342���-540.�F�N40�7�I-E � D � ��*�5�69/47�L426�� 474̂ -6-7I� +-2̂ /��� -E247�(A/I42�,2-0-7I-E�I?-�,4,-2F�-B,54/7/7̂ �I?-�,2�,�0-E�0.1I-�642m/7̂ �0M0I-6�9-/7̂ �4E�,I-E�/7�*�5�69/4�47E�?/̂?5/̂?I/7̂ <4 ��� 42m/7^��=�949/554�QRSTUSVWYZ�Y��T���\�,2�E1.I/�7�(�$-0�51I/�7��� �O�D�� 4M��&&�n9 �� 42m/7̂ ��=�,42-7I45�0I�.m�/7�*�5�69/4�(�$-0�51I/�7��� ���H��=��&&CF��� �HH����=��&&tn�47EF. ��>�3-276-7I�/7/I/4I/3-0�9-/7̂ �/6,5-6-7I-E�I��6--I�I?-�2-u1/2-6-7I0��=�I?-�*%G�+�$47.?/7̂ �2-0�51I/�7 � G?-�J-,1IM�*?4/2647F�J/-I2/.?�)-5E-7F�/7E/.4I-E�I?4I�47�4745M0/0��=�I?-�I24E-�E4I4F�434/5495-�,195/.455M��7�I?-����#(@ *� *�N-90/I-F�/7E/.4I-0�4�0190I47I/45�/7.2-40-�/7�*�5�69/47�-B,�2I0��=�RSTUSVWYZ�Y��T���W���Y���0m/70F�=2�6�CHCF&&&�/7��&&D�I��O�wF&&&�/7��&&w �G?/0�24/0-0�0/̂7/v.47I�u1-0I/�70�/7�2-̂ 42E�I��.�6,5/47.-�47E�-7=�2.-6-7IF�N?/.?�7--E0�I��9-�4EE2-00-E�9M�*�5�69/4�47E�9M�I?-�64��2�/6,�2I/7̂ �.�17I2/-0F�01.?�40�I?-��12�,-47��7/�7F�)4,47F��+"�47E�+/7̂ 4,�2- �G?-�*?4/2647�N40�2-u1-0I-E�I��24/0-�455�.�7.-270�N/I?�*�5�69/4�47E�I���==-2�01.?�I-.?7/.45�400/0I47.-�=2�6�I?-�*+>�40�I?-�*�5�69/47�41I?�2/I/-0�64M�2-u1-0I�Q0--��-II-2�t�0-7I�I��� /7/0I-2F�,4̂ -�H&\ � D D ��A24]/5<�#2�̂ 2-00�N/I?���WVT�[Z�;423-0I�#2�̂ 246� +�7/4�*47I��=2�6�I?-�+-.2-I42/4�E-��0I4E��E4�#2�E1.4�F�A24]/5F�4EE2-00-E�I?-�6--I/7̂ F��1I5/7/7̂ �I?-�?/0I�2M��=�I?-��[�SV��Y���WVT�[Z�,2�̂ 246�/7�A24]/5�47E�I?-�.122-7I�4.I/3/I/-0�9-/7̂ �17E-2I4m-7�/7�� 46/2414�$-0-23-F�=�55�N/7̂ �I?-�01..-00=15�E�N75/0I/7̂ ��=�I?-�0,-./-0�I��",,-7E/B�%%�4I�*�#Ht �G?/0�/7.51E-0�-B,-2/6-7I45�?423-0I/7̂ F�47E�I-0I/7̂ ��=�I?-�,2�.-00-0�I��-7012-�I?4I�I?-�4,,2�,2/4I-�,2�.-E12-0�42-�/7�,54.-�9-=�2-�4�?423-0I�,2�̂ 246�/0�/6,5-6-7I-E �G?-2-�64M�9-�4�,�00/95-�-BI-70/�7��=�I?-�6474̂ -6-7I�,2�̂ 246�/7I���I?-2�42-40 � D t ��*194<�#2�,�0-E�$-3/-N ��=�*2�.�E/5-�� 474̂ -6-7I� G?-�2-,�2I��7�I?-�,2�,�0-E�*+>�6/00/�7�I��*194�/7�-425M���3-69-2��&&'�N40�7�I-E 



��������������������������������������������������������������������������������������w

� D C ���-7-]1-54<�R�WTV�[ZU[�T���#2�,�045� G?-����4E3/0-E�I?4I�I?-�=�55�N/7̂ �4E3/.-�?4E��75M�2-.-7I5M�9--7�2-.-/3-E�=2�6�I?-��-7-]1-547�>�3-276-7I<4 ��G?-�� /7/0I2M��=��73/2�76-7I�/0�7�I�,2�.--E/7̂ �N/I?�4�E�N75/0I/7̂ �,2�,�045�=�2�R�WTV�[ZU[�T���4I�I?/0�I/6- �%I�N/0?-0�I��=12I?-2�/73�53-�5�.45�.�6617/I/-0�/7I��I?-�.�70-234I/�7�,2�̂ 246�47E�,2�,�0-0�I��.�66-7.-�I?/0�,2�.-00�54I-2�/7��&&'��2�-425M��&&O 9 ��>�3-276-7I�N/55�0��7�.2-4I-�4�7-N�,2�I-.I-E�42-4�/7�I?-�*��-E-0�$/3-2�42-4F�N?/.?�/0��7-��=�I?-�6�0I�/6,�2I47I�42-40�=�2�R�WTV�[ZU[�T�� � G?-�2-,�2I�N40�7�I-E � D w���.14E�2<�*%G�+�+I47E/7^�*�6 6 /II--�$-.�66-7E4I/�70� G?-2-�4,,-42-E�I��9-�IN��,�00/95-��,I/�70�=�2��.14E�2<4 �64/7I4/7�I?-�,�,154I/�7��=��[�SV��Y���WVT�[Z��7�",,-7E/B�%%F�N?/.?�N�15E�2-u1/2-�4�0196/00/�7�9M��.14E�2�I��*�#HCn��2F9 ��2-I127�I?-�0,-./-0�I��",,-7E/B�% Q+--��-II-2�C�I��� /7/0I-2��7�,4̂ -�H�\ � D � ��#424̂ 14M<��4I-0I�J-3-5�,6-7I0� J-,1IM�*?4/2647�"5-�47E2���422/-24�,2-0-7I-E�I?-�2-,�2I��7�I?-�*+>�6/00/�7�I��"017./�7F�#424̂ 14MF��7�H&�",2/5��&&'F�2-̂ 42E/7̂ �I?-�0-5=(/6,�0-E�6�24I�2/16��7�I24E- �#424̂ 14M�?40�7�I�=�26455M�,2-0-7I-E�4�E24=I�6474̂ -6-7I�,547�=�2�RSTUSVWXSYSZ[�I��I?-�*+> �+?�15E�/I�E��0�F�/I�N�15E�9-�./2.154I-E�I��0-5-.I-E�*+>�6-69-20�=�2�2-3/-NF�47E�.�66-7I0�0196/II-E�94.m�I��I?-�2-5-347I�#424̂ 14M47�41I?�2/I/-0 ��G?-�6474̂ -6-7I�,2�̂ 246�N40�=�26455M�0196/II-E�I��*+>�47E�2-3/-N-E�(�0--��-II-2�w��7�,4̂ -�H�� � t � ��2I?�"6-2/.4� G?-�2-,�2I�N40�,2-0-7I-E�9M�I?-�)�/7I�$-̂ /�745�*?4/20F�$1I?��50-M�47E�"5547�o@ ��EMr�@ ��EN42EF�.542/=M/7̂ �I?-�.122-7I�0/I14I/�7�N/I?�I?-�2-u1-0I0�I��I?-��+L@ +�=�2�I?-�2-.5400/v.4I/�70�17E-2�I?-��+��7E47̂ -2-E�+,-./-0�".I�/7�2-0,-.I��=�R�W�S�TZ���ZT��9M�"2̂-7I/74�47E�R�WU�Z[�[�TT�9M�� -B/.� �G?-�I-0I/7̂ ��=�942�.�E-0��7�*%G�+�0m/7�I4̂ 0�9M���1/0/474�N40�450��6-7I/�7-E �G?-�2-,�2I�N40�7�I-E � C H ��@ -0I�"0/4� G?-�$-̂ /�745�*?4/2647�=�2�@ -0I�"0/4�N40�17495-�I��,2�3/E-�4�2-,�2I�E1-�I��?/0�N/=-�9-/7̂ �3-2M�/55 �G?-��B-.1I/3-��=v.-2�92/-pM�2-,�2I-E��7�/7=�264I/�7�

I?4I�?4E�9--7�,2�3/E-E�=�2�%247F�A47̂ 54E-0?�47E�+2/��47m4 � C � ��%7E/47�>?42/45� G?-��/.-�*?4/2��=�I?-��-I-2/742M�+./-7.-�>2�1,�,2-0-7I-E�I?-/2�2-,�2I��7�I?-�>?42/45�6�2I45/IM�-3-7I0�/7�I?-�*?46945��4I/�745�+47.I142MF�%7E/4F�?/̂?5/̂?I/7̂ �0�6-��=�I?-�E/=v.15I/-0�N/I?�.�6617/.4I/�7��=�I?-�/7=�264I/�7 �G?-�*?4/2647�I?47m-E�I?-�*+>��-I-2/742M�+./-7.-�>2�1,F�47E�,42I/.15425M�L2/I]�;1.?]-26-M-2F�=�2�I?-�-B.-55-7I�2-,�2I �G?-�2-,�2I�N40�7�I-E � w �� "10I245/4�47E��.-47/4�� G?-�$-̂ /�745�*?4/2647�*?425/-�� 47�5/0�,2-0-7I-E�I?-�2-,�2IF�?/̂?5/̂?I/7̂ <�I?-�/6,4.I��=�.47-�I�4E0��7�N/5E�,�,154I/�70��=�L2-0?N4I-2�.2�.�E/5-0�/7�I?-���2I?-27�G-22/I�2Mn�47��1I92-4m��=�R��SUX�TS�IM,-�E/0-40-�IN��M-420�4̂ ��N?/.?�4==-.I-E�IN��=4260�/7�J42N/7n�47EF�I?-�17m7�N7�0I4I10��=�+45IN4I-2�.2�.�E/5-0�/7�I?-�+�5�6�7�%0547E0�47E��40I�G/6�2 �G?-�2-,�2I�N40�7�I-E � � � �12�,-�� G?-�J-,1IM�*?4/2647�,2-0-7I-E�I?-�2-,�2IF�?/̂ ?5/̂ ?I/7̂ �I?4I�)�?7�;1II�7�?40�4E3/0-E�I?4I����#(@ *� *�/0�N�2m/7̂ �N/I?�J47/-54��4/7-]F�4�� 40I-20�0I1E-7IF�I��.2-4I-�4�E4I4940-��=�.2�.�E/5-�0123-M0�/7�"=2/.4 �)�7�/0�0--m/7̂ �01,,�2I�=�2�I?/0�,2��-.I�9M�2-u1-0I/7̂ �*+>�6-69-20�I��E/̂��1I�455�I?-/2�0123-M�2-,�2I0�=2�6�"=2/.4�47E�� 4E4̂ 40.42�47E�I��0196/I�I?-6�I��I?/0�,2��-.I �G?-�v7/0?-E�,2�E1.I�N/55�9-�434/5495-�=�2�I?-�=1I12-�10-��=�6-69-20 �L�2�=12I?-2�/7=�264I/�7�-(64/5�)�7�;1II�7�Q��7 ?1II�7x 17-,(N.6. �2̂\ �G?-�2-,�2I�N40�7�I-E D ��G?-64I/.��/.-�*?4/2�$-,�2I0D H H ��*%G�+� G?-�2-,�2I�N40�92/-pM�/7I2�E1.-E�9M�I?-�*?4/2647F�/7�I?-�490-7.-��=�;47m�)-7m/70F�.�3-2/7̂ �*�#Ht�Q�&&�\F��D2E�*%G�+�"7/6450�*�66/II--�6--I/7̂ �Q",2/5��&&'\�47E�*%G�+�+I47E/7̂ �*�66/II--�@ �2m/7^�>2�1,��7�,-20�745�47E�?�10-?�5E�-==-.I0 D H � ���0-��=�*%G�+�$-(-B,�2I�+m/7�G4̂ 0� G?-�,4,-2�N40�,2-0-7I-E�9M�I?-��B-.1I/3-��=v.-2 �� 2 �P�.?/�G4m-?424�-B,54/7-E�I?-�E/==/.15IM��=�/6,5-6-7I/7̂ �I?-�2-(-B,�2I�I4̂ �0M0I-6�/7�)4,47�47E�/7E/.4I-E�I?4I�?-�N�15E�5/m-�I?-�/001-�I��9-�24/0-E�N/I?�I?-�*%G�+�+I47E/7̂ �*�66/II--�N?-7�I?-M�42-�4EE2-00/7̂ �I?-�2-3/-N��=�I?-��7/3-2045�G4̂ /̂7̂ �+M0I-6 �J/-I2/.?�)-5E-7F�N?��/0��7�I?-�+I47E/7̂ �*�66/II--�N�2m/7̂ �̂2�1,�=�2�I?/0�2-3/-NF�6-I�N/I?�



���������������������������������������������������������������������������������������

/7E10I2M�6-69-20��7���)17-�I��E/0.100�0�51I/�70�I��I?/0�/001- � �72/.��*?/-04�24/0-E�47�-B46,5-��=�4�2-.-7I�,2�95-6�-B,-2/-7.-E�/7�I?-��+"F�N?-2-�41I?�2/I/-0�N-2-�2-u1-0I/7̂ �/7E/3/E145�I4̂ 0��7�-4.?�o94.m0I24,r �%I�N40�4E3/0-E�I?4I�/=�I?-��+"�?40�0I2/.I-2�E�6-0I/.�5-̂ /054I/�7F�I?-7�I?-M�0?�15E�4E3/0-�I?-�-B,�2I/7̂ �.�17I2/-0�4..�2E/7̂ 5M �J�7�"0?5-M�0,�m-�92/-pM�49�1I�0�6-�I24E-�/001-0 �G?-�2-,�2I�N40�7�I-E D H D ��*�#Ht� G?-�2-,�2I�N40�7�I-E D � H ��%�*�� G?-�2-,�2I�N40�7�I-E D � � ��++*�*?4/20�� --I/7̂� G?-�*?4/2647F�N?��4II-7E-E�I?/0�6--I/7̂ F�,2-0-7I-E�47��1I5/7-��=�I?-�0I21.I12-0�N/I?/7�I?-�%�*�F�/I0�.�2-�,2�̂ 2460F�47E�I?-�++*�47E�?�N�I?-M�/6,4.I�1,�7�I?-�*+>�47E��I?-2�+,-./45/0I�>2�1,0 �G?-�,2�,�045�I��2-0I21.I12-�-4.?�+,-./45/0I�>2�1,0�/7I��4�$-E��/0I�>2�1,�47E�4�*�70-234I/�7�".I/�7�>2�1,�N40�-̂7-2455M��,,�0-E�9M�I?-�+,-./45/0I�>2�1,�*?4/20�47E�I?-�,2�,�0-E�2-0I21.I12-�7�N�0--60�I��9-�o�7�?�5Er � "I�I?-�%�*��@ �25E�*�7̂ 2-00�I��9-�?-5E�/7�A42.-5�74�/7��.I�9-2��&&'F�/I�4,,-420�I?-�.122-7I�*?4/2��=�I?-�++*�*?4/2�;�55M�J195/7�64M�9-�.?455-7̂ -E �L2�6�4�*+>�,-20,-.I/3-F�;�55M�J195/7F�?-20-5=�4�+,-./45/0I�>2�1,�*?4/2F�?4E�E-6�70I24I-E�0I2�7̂ �47E�0-70/I/3-�5-4E-20?/,�/7�4�E-647E/7̂ �,�0/I/�7 �+?-�?4E�45N4M0�9--7�47�4.I/3-�0�12.-��=�4E3/.-�47E��=�9�I?�I-.?7/.45�47E�4E6/7/0I24I/3-�̂1/E47.-�I��I?-�*+>�*?4/2�N?-7�7--E-E �;-2�3/-N0��7�I?-�N4M0�/7�N?/.?�010I4/7495-�10-�.47�47E�/0�9-/7̂ �/7.�2,�24I-E�/7I��.2�.�E/5/47�.�70-234I/�7�-==�2I0�?43-�45N4M0�9--7�5�̂ /.45�47E�0�17E ��7E-2�I?-�./2.160I47.-0�?-�.�70/E-2-E�47M�.?455-7̂ -�I��I?-�++*�*?4/2�4I�I?/0�I/6-�N40�.�17I-2,2�E1.I/3-�47E�17N42247I-EF�47E�I?4I�%�*��6-69-20�4II-7E/7̂ �I?-�A42.-5�74�� --I/7̂ �0?�15E�9-�6/7E=15��=�I?-�4E6/2495-�47E�0m/55-E�,-2=�2647.-��=�;�55M�J195/7�N/I?�2-̂ 42E�I��I?-�*+>�/=�I?-�2-(-5-.I/�7�/001-�/0�.�7I-0I-E � %I�N40�0I2-00-E�I?4I�,-2?4,0�I?-�*+>�?40�45N4M0�9--7�/7�47�4NmN42E�,�0/I/�7�9M�7�I�9-/7̂ �4�5-̂ 45�-7I/IM�/7�/I0��N7�2/̂?IF�N?/.?�.�70I24/70�*+>�.�70-234I/�7�4.I/3/I/-0�/7�647M�N4M0 �%I�N40�01̂ -̂0I-E�I?4I�I?-�N4M�/7�N?/.?�I?-�L2-0?N4I-2�G12I5-�47E�G�2I�/0-�+,-./45/0I�>2�1,�?4E�-0I495/0?-E�4�=�17E4I/�7�I��01,,�2I�I?-�LGG+>�4.I/3/I/-0�4,,-42-E�I��9-�4�6�E-5�I?4I�I?-�*+>�.�15E�=�55�N �G?/0�64II-2�/0�4EE2-00-E�=12I?-2�17E-2�" -̂7E4�%I-6�D O��-̂ 45�"==4/20 �

D D �%7E10I2M� J�7�"0?5-M�,2-0-7I-E�I?-�2-,�2IF�?/̂?5/̂?I/7̂ <4 ��$-3/-N��=�I?-��7/3-2045�G4̂ /̂7̂ �47E�06455�5-4I?-2�̂��E0n9 ��#-20�745�47E�;�10-?�5E��==-.I0n. ��$-(-B,�2I�I4̂ 0nE ��*122-7I�I24E-��,-24I/�70n- ��--E�=�2�9-7-=/I0�I��.�70-234I/�7�47E�.�6617/I/-0�9-/7̂ �/7I-̂ 245�I��9-7-vI0�I��I?-�.�66-2./45�/7E10I2Mn�47EF= ���--E�=�2�E-E/.4I-E�=17E/7̂ �I��I4m-�/001-0�I��I?-�7-BI�5-3-5 �G?-�2-,�2I�N40�7�I-E �D t ��G24E-�� �7/I�2/7̂� )�?7�*45EN-55�,2-0-7I-E�I?-�2-,�2IF�?/̂?5/̂?I/7̂ <4 ��%7=�264I/�7��7�I?-�̂ 5�945�I24E-�/7�.2�.�E/5/47�0m/70�/0�̂4I?-2-E�9M����#(@ *� *�=2�6�*%G�+�"77145�$-,�2I0�47E�*L"�n9 ��G?-�54I-0I�%"*G+�2-,�2I�=�2��&&w�/0�54.m/7̂ �/7=�264I/�7�=2�6�"10I245/4F�#4,14��-N�>1/7-4�47E�)4,47 �%I�E-6�70I24I-0�0�6-�E/0I129/7̂ �0?42,�/7.2-40-0�/7�I24E-�=2�6�*�5�69/4�I?4I�E��7�I�4,,-42�I��9-�-B,5/.495-�9M�0190I47I/45�/7.2-40-0�/7�=426�,2�E1.I/�7�.4,4./IM�47E�I?10�-B,5474I/�70�=2�6�*�5�69/4�42-�7--E-E . ��G?-�54.m��=�2-,�2I/7̂ �=2�6�#4,14��-N�>1/7-4�47E�A24]/5�,54.-0�I?-6�/7�92-4.?��=�*%G�+�2-,�2I/7̂ �2-u1/2-6-7I0nE ��G24E-�/7=�264I/�7�/0�=2--5M�434/5495-��7�I?-�@ *� *�N-90/I-n- ��$-,�2I��7�4�0I1EM��=�I?-�.2�.�E/5-�6-4I�I24E-�N/55�9-�.�6,5-I-E�9M�I?-�-7E��=�)17-��&&'n�47EF= ��G?-�,2�,�0-E�oJ/2-.I�2Mr�7--E0��&(D&�=426-20�I��I2/45�I?-�0M0I-6 � G?-�2-,�2I�N40�7�I-ED C ���-I-2/742M�+./-7.-� #4�5��� 42I-55/�?40�9--7�4,,�/7I-E�40�I?-�7-N��/.-�*?4/2��=�I?-��-I-2/742M�+./-7.-�̂2�1,F�=�55�N/7̂ �I?-�2-I/2-6-7I��=�L2/I]�;1.?]-26-M-2 �L2/I]�N/55�2-64/7�47�4.I/3-�6-69-2��=�I?-�̂ 2�1, �#4�5��,2-0-7I-E�I?-�2-,�2IF�?/̂?5/̂?I/7̂ <�I?-�E-3-5�,6-7I��=�4�5/0I��=�3-I-2/742/470�N?��42-�,2-,42-E�I��,42I/./,4I-�/7�I?-�̂ 2�1,�47E�0?42-�/7=�264I/�7�=2--5Mn�47EF�E-3-5�,6-7I��=�4�N-9(940-E�.4,4./IM�91/5E/7̂ �647145�I��/7.2-40-�,-�,5-0��.4,4./I/-0 D w ��$-E��/0I�"1I?�2/IM� G?-�2-,�2I�N40�,2-0-7I-E�9M�)�?7�G?�29�427420�7�47E�7�I-E 



��������������������������������������������������������������������������������������'

D � �����0�47E�*�6617/IM��E1.4I/�7� �-7I��5/-I�,2-0-7I-E�I?-�2-,�2IF�?/̂?5/̂?I/7̂ �2-.-7I�4.I/3/I/-0<�=17E0�=�2�I?-�#?/5/,,/7-�#2��-.I�/7��1]�7n�=17E0�=�2�I?-�*?/7-0-�"55/̂4I�2�,2��-.In�=17E0�=�2�I?-�?̂42/45�.2/0/0�/7�%7E/4n�47EF�,2�,�0-E�N-90/I- �G?-�2-,�2I�N40�7�I-E D ' ��>-7-245�$-0-42.?� �45��47.-�,2-0-7I-E�I?-�2-,�2IF�/7E/.4I/7̂ �I?4I�0./-7I/v.�2-0-42.?��7�.2�.�E/5/470�/0�/7.2-40/7̂ �24,/E5MF�N?/.?�/0�3-2M�N-5.�6-E �G?-2-�42-�647M�7-N�.2�.�E/5/47�,4,-20�9-/7̂ �,195/0?-EF�47E�I?-�7169-2��=�u145/IM�0I1E-7I0�/7��4I/7�"6-2/.4�/0�/7.2-40/7̂  �G?-�2-,�2I�N40�7�I-E D O ���-̂ 45�"==4/20� G?-2-�N40�E/0.100/�7��7�I?-�7--E�I��4E347.-�I?-�,2�,�0-E�*+>�*?42I-2�,2-,42-E�9M�G�66-�P�17̂ �40�4�6-470��=�-7012/7̂ �I?-�,2�,-2�6474̂ -6-7I��=�I?-�*+>�47E�/I0�5-̂ 45�0I4I10�/7�I?-�=1I12- �G?-�2-,�2I�N40�7�I-E t ��G40m�L�2.-q@ �2m/7̂ �>2�1,�$-,�2I0t H ��G�6/0I�64�G40m�L�2.-� G?-�7-N�*+>(GGL�*?4/2647F�A21.-�+?N-E/.mF�N40�17434/5495- �G�6�J4.-M�2-,�2I-E��7�I?-�01..-00��=�I?-�*+>(GGL�N�2m0?�,�?-5E�/7�#4II4M4F�G?4/547EF�/7�� 42.?��&&' t � ��#?/5/,,/7-�*2�.�E/5-� %7�I?-�490-7.-��=�I?-���/7I�$-̂ /�745�*?4/20F�� -25/�7�347�@ --2E�,2�3/E-E�47�1,E4I-��7�I?-�*$�*�,2��-.I�/7�+47�� 42/47�F�7�2I?-27��1]�7F�47E�.�7v26-E�I?4I�=17E/7̂ �?4E�9--7�0-.12-E�I��m--,�I?-�,2��-.I�̂�/7̂ �=�2�47�I?-2�M-42 �J/0.100/�7�N40�?-5E��7�I?-�64II-2��=�0I21.I1245�=17E/7̂  �G?-�*?4/2647�4E3/0-E�I?4I�,2��-.I0�940-E�1,�7��7�.�7I/7145�E�7�2�=17E/7̂ �42-�7�I�010I4/7495-�47E�I?-2-�/0�7--E�I��.473400�?�N�I��-̂I�010I4/7495-�=17E/7̂ �=�2�,2��-.I0 �G�6�J4.-M�,2�3/E-E�4�92/-=�1,E4I-��7�I?-�01..-00=15�7-0I/7̂ ��=�R�WUTV��Z[V�T���7�I?-�� -2.4E��L426�/7�� /7E474� �G?-�2-,�2I�N40�7�I-E t D ��;1647(*2�.�E/5-�*�7p/.I� %7�I?-�490-7.-��=�$/.?42E�L-2̂100�7F�I?-�*?4/2647�0,�m-�92/-pM��7�I?-�019�-.I��=�;1647(*2�.�E/5-�*�7p/.I�47E�I?-�/6,4.I0�I?4I�/I�.47�?43-��7�.2�.�E/5-�.�70-234I/�7�,2��-.I0 �$-=-2-7.-�N40�64E-�I��I?-�2-.-7I�;**�N�2m�17E-2I4m-7�9M��/m?/5�@ ?/I4m-2�/7�%7E/4 �%I�/0�/7I-7E-E�I��64m-�I?/0�434/5495-��7�I?-�7-N�*+>�N-90/I- �G?-�2-,�2I�N40�7�I-E 

C ��>-7-245�A10/7-00C H ��*+>�@ -90/I-�� G?-�7-N�*+>�N-90/I-�N40�5417.?-E��7����� 4M��&&'�47E�455�2-,�2I0�I��E4I-�?43-�9--7�3-2M�=43�12495- C � ���5-.I2�7/.�*2�.�E/5/47�)�12745� �-2M�5/II5-�4.I/�7�?4E�9--7�I4m-7�I��,2�̂ 2-00�I?/0�,2�,�045�0/7.-�I?-�540I�N�2m/7̂ �6--I/7̂  �*?425/-�� 47�5/0�01̂ -̂0I-E�I?-�=�264I/�7�4�06455�N�2m/7̂ �2̂�1,�I��,2�̂ 2-00�I?/0�64II-2�47E�2-,�2I�94.m�I��I?-�6--I/7̂  ��G?-�N�2m/7̂ �̂2�1,�6-I��7�D�)17-�(�0--�,4̂ -�H�� C D ��*+>��-N05-II-2�� G?/0�64II-2�N40�.�3-2-E�,2-3/�105M�/7�I?-��B-.1I/3-��=v.-2�0�2-,�2I�Q" -̂7E4�%I-6�H DF�,4̂ -�t\ C t ��+I1E-7I�$-0-42.?�"00/0I47.-�+.?-6-�� L�55�N/7̂ �̂-7-245�E/0.100/�7��7�I?-�,2�,�045F�/I�N40�1747/6�105M�4,,2�3-E�/7�,2/7./,45�47E�6-69-20�N-2-�2-u1-0I-E�I��̂ -I�.�66-7I0�47E�01̂ -̂0I/�70�94.m�I��I?-����E12/7̂ �I?-�6--I/7̂  �#-2247�$�00�4E3/0-E�I?4I�?-�N�15E�E�74I-�s"�JH&&&�I�N42E0�I?-�0.?-6- ��+--�,4̂ -�H��=�2�E-I4/50� C C ��*2�.�E/5/47�� 474̂ -6-7I�*4,4./IM�A1/5E/7 �̂� 47145�� G?-�*?4/2647�4E3/0-E�I?4I�I?-2-�N40�4�,2-00/7̂ �7--E�=�2�I?-�*+>�I��64m-�4�N/E-�247̂ -��=�/7=�264I/�7�2-4E/5M�434/5495-��7�I?-�7-N�N-90/I-�47E�I?4I�/I�64M�9-�7-.-0042M�=�2�*+>�I��,4M�0�6-�7-�I��.��2E/74I-�I?-�,2-,424I/�7��=�I?-�� 47145 �%I�N40�4̂ 2--E�I?4I�I?/0�,2�,�045�0?�15E�,2�.--E C w ��*40I/55�0�"N42E� G?-�*?4/2647�4E3/0-E�I?4I�I?-��B-.1I/3-�?4E�.�70/E-2-E�0-3-245�7�6/74I/�70�47E�I?-�01..-00=15�2-./,/-7I�N�15E�9-�477�17.-E�4I�I?-�A�5/3/47�J/77-2��7�I?-�-3-7/7̂ ��=�t�)17- ��G?-�*40I/55�0�"N42E�N40�,2-0-7I-E�I���/5.4�*46,�0�=2�6�A24]/5n�0--�,4̂ -�Hw� w ���I?-2�A10/7-00�G?-�*?4/2647�92/-pM�4E3/0-E�6-69-20��=�I?-��1I.�6-��=�I?-�64II-20�E/0.100-E�9M�I?-�*+>��B-.1I/3-��7�H�)17- �G?/0�/7.51E-E<H ��G?-�7--E�I��2-0I21.I12-�0�6-��=��12�2-̂ /�70�47E�4,,�/7I6-7I0��=�+I--2/7̂ �*�66/II--�6-69-20F�,2/�2�I��I?-�%�*��*�7̂ 2-00�QA42.-5�74F��.I�9-2��&&'\ 



��������������������������������������������������������������������������������������O

4 ��%I�?40�9--7�4̂ 2--E�I��0,5/I�"=2/.4�/7I��IN��2-̂ /�70�(�o@ -0I�"=2/.4r�47E�o�40I�|�+�1I?�"=2/.4r �9 ��#2�,�0-E�.?47̂ -0�I��I?-��4I/7�"6-2/.4�47E�*42/99-47�$-̂ /�7�42-�17E-2�.�70/E-24I/�7 . ��",,�/7I6-7I��=�7-N�$-̂ /�745�*?4/20�=�2�@ -0I�"0/4�47E��40I�|�+�1I?-40I�"0/4�/0�450��17E-2�.�70/E-24I/�7 � ��G?-�+I4I10�47E�*�70-234I/�7�".I/�7�#547�/0�9-/7̂ �2-3/-N-E�47E�1,E4I-E�9M�*�5/7�+I-3-70�7 D ��G?-�#?/5/,,/7-�*2�.�E/5-�47E�+/46-0-�*2�.�E/5-�@ �2m/7̂ �>2�1,0�N-2-�E/0947E-E t ��"�*+>�*?42I-2�N/55�9-�E-3-5�,-E�I��̂1/E-�I?-�=1I12-��,-24I/�70�47E�6474̂ -6-7I��=�I?-�*+>F�5-4E/7̂ �I��I?-�.2-4I/�7��=�4�L�17E4I/�7�I��?47E5-�I?-�v747./45�4==4/20��=�I?-�*+> � ��-BI�*+>�@ �2m/7̂ �� --I/7̂ �Q�&H&\",,2�4.?-0�42-�9-/7̂ �64E-�I��v7E�4�?�0I�=�2�I?-��&I?�@ �2m/7̂ �� --I/7̂ �47E�6-69-20�N/55�9-�4E3/0-E�N?-7�4�3-71-�?40�9--7�E-I-26/7-E ����I?-2�910/7-00�N40�24/0-E�47E�I?-�6--I/7̂ �.5�0-E�4I�H�D&�? �� /71I-0��=�I?-�+I--2/7̂ �*�66/II--�6--I/7̂ �42-�434/5495-�4I�oNNN /1.7.0̂  �2̂q,?Hq6�E15-0q#195/.4I/�70q2-,�2I0 ?I65r������������������������������������������������������������ d̀d̀e8��8yfe�il 8} bk8� z̀ikl c8� `̀ dilz� 2 �"54/7��E�142E�G24�2-�� � �������)17-��&&'*�70-/55-2�E-0�"==4/2-0��I247̂ -2-0�-�+-.2-I4/2-�>-7-245J1�� /7/0I-2-�E-����73/2�77-6-7I�I�E1�*4E2-�E-��/-A12m/74�L40�J-42�� 2 �G24�2-FG?47m(M�1�=�2�M�12�5-II-2��=�HH�)17-��&&'�2-̂ 42E/7̂ �I?-�,2�,�0-E�@ -0I�"=2/.47�*+>�019(2-̂ /�745�6--I/7̂ �4I�$47.?�E1�>/9/-2�E-��4]/7̂ 4�/7�A12m/74�L40�F�I�̂ -I?-2�N/I?�I?-�746-0��=�6-69-20��=�I?-��2̂47/0/7̂ �.�66/II-- �%�N/0?�I��̂24I-=155M�I?47m�I?-�>�3-276-7I��=�A12m/74�L40��=�2�17E-2I4m/7̂ �I��?�0I�I?/0�6--I/7̂  @ -�N�15E�9-�/7I-2-0I-E�I��m7�N�M�12�,2-=-22-E�E4I-0�=�2�.�73-7/7̂ �I?/0�6--I/7̂  �G?-�*+>�N�15E�5/m-�I��01̂ -̂0I�54I-��&&O�Q��3-69-2\��2�-425M��&H&�Q)47142M(L-92142M\�40�,�00/95-�E4I-0�=�2�M�12�.�70/E-24I/�7 G?-�*+>�/0�0I/55�?�5E/7̂ �s�+DC&&�I?4I�N40�24/0-E�I?2�1̂ ?�I?-�41.I/�7�4I�I?-�*+>�6--I/7̂ �/7��&&wF�I��400/0I�M�12�,2�,�0-E�6--I/7̂  �@ ?/50I�N-�.47�/7.2-40-�I?/0�.�7I2/91I/�7�I��4�I�I45��=�s�+�&&&F�40�,2-3/�105M�,2�6/0-EF�/I�N/55�9-�7-.-0042M�=�2�M�12��2̂47/0-20�I��0--m�01,,�2I�=17E/7̂ �=2�6��I?-2�0�12.-0 
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@ -�2-I127-E�I��A/7I47̂ �A421�47E�E2�3-�I��I?-�06455�v0?/7̂ �3/554̂ -��=�� -74647̂ ��/2/F��7�47��==0?��I��=�I?-��-E47̂ �$47I41�$/3-2F�7-42��4m-�� 41 �"=I-2�7-̂ �I/4I/7̂ �I?-�?/2-��=�4�5�7̂ �9�4I�N/I?�I?-�3/554̂ -�?-4E�647F�N-�.�66-7.-E�4�7/̂?I�0123-M �;�N-3-2F�I?-�0123-M�?4E�I��9-�4947E�7-E�E1-�I��4�0-3-2-�I?17E-20I�26�47E�N-�?4E�I��I4m-�0?-5I-2�/7�4�?�10-�4I�4�06455�v0?/7̂ �3/554̂ -��=�+-E1547̂  �G?-�=46/5M�,2�3/E-E�10�N/I?�4�6-45�47E�9-EE/7̂ �=�2�I?-�7/̂?I 

L/̂12-�t �*?477-5�.1I�I?2�1̂ ?�I?/.m�3-̂ -I4I/�7�I��4..-00�54m-�42-4�=�2�v0?/7̂  G?-�7-BI�6�27/7̂ �N-�2-I127-E�9M�9�4I�I��� -74647̂ ��/2/�47E�.�7I/71-E��7�I��I?-�4E��/7/7̂ ��4m-�� 41F�N?-2-�3/554̂ -�v0?-26-7�2-,�2I�-7.�17I-2/7̂ �G�6/0I�64��7�4�2-̂ 1542�940/0 �G?-M�101455M�.4I.?�I?-6�/7�I?-/2�v0?/7̂ �I24,0�47E�2-5-40-�I?-6 �G?-�54m-�N40�3-2M�E-70-�N/I?�3-̂ -I4I/�7�47E�I?-�5�.450�?43-��,-7-E�1,�4�.?477-5�QL/̂ �t\�/7I��I?-�54m-�42-4�I��455�N�I?-6�I��0-I�v0?/7̂ �I24,0 �G?-�N4I-2�/7�I?-�54m-�-7I2M�47E�I?-�54m-�/I0-5=�N40�.2M0I45�.5-42�47E�3-2M�=40I�p�N/7̂ �/7�,42I0 ����.2�.�E/5-0�N-2-�0/̂?I-E �4I-2�I?4I�4=I-27��7�N-�E2�3-�94.m�I��A45/m,4,47F�N?-2-�N-�/70,-.I-E�R�W�TSU[V�T��?4I.?5/7̂ 0�I?4I�?4E�?4I.?-E��7�I?-�=426�IN��6�7I?0�-425/-2 �GN���I?-2�.51I.?-0�N-2-�0I/55�/7�I?-�/7.194I�2 �� 2 �+1̂ /42I��/7E/.4I-E�I?4I�?-�N�15E�N-5.�6-�4�*+>(�2̂47/0-E�0123-M�=�2�R�W�TSU[V�T�F�47E�N�15E�9-�,2-,42-E�I��,2�3/E-�7-.-0042M�5�̂ /0I/.45�01,,�2I %�N/0?�I��I?47m�G42I��+1̂ /42I��=�2�?/0�?�0,/I45/IM�47E�=�2�/7I2�E1./7̂ �6-�I��I?-�?49/I4I0�/7�N?/.?�I?-0-�0,-./-0�5/3- �;-�64E-�6M�3/0/I�4�3-2M�,5-4047I�-3-7IF�=�2�N?/.?�%�46�̂24I-=15 �%�450��I?47m�?/0�E2/3-2q̂1/E-F�"/E/5F�=�2�?/0�-B,-2I�m7�N5-Ê -�47E�49/5/IM�/7�?-5,/7̂ �6-�I��v7E�N/5E�Ë�UT���USW�Y��[�[�TT G�6�J4.-MF�RÇÈWÌü[Y��Tù[WÙ��Y[ZWßY��þ àUT�Y�U�S�ç�������������������������������������������������������������ÕÖÕ��Õ�ë�	
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